MOV PRO MANUAL QUANTUM ALL-MEDIA METERING VALVE

om T2

Description Stock# Wt. il Description Stock#  Wi.
(-) MQV Pro manual Quantum metering valve 4. Cover, cleanout ............ovveeevevercereeesee s 22620 <5
complete 1-1/4” awninal60y 8 5. Screw, 1/4-NC x 3/4” hex head cap...........ccoov.. 03052 <5
(-) MQV Pro manual ﬂuanlum melermg valve 6. Wing nut, 1/4-NC <.h
complete 1-1/2" .. 31608 8 7. Housing, knob........... <5
(*) Conversion Kit, 1- 1;’4" MOV Pro swandl134 <b 8. Nut, knob housing.................... Py s e 22762 <5
(*) Service kit, metereing assembly .....22854 <.b 9. Metering plate and shaft ... 22763 <.b
1. Adaptor flange.... ..21314 2 10. Metering SCrew ............... 22764 <5
2. Screw, 3/8- NCx1" socket head ....22655 <5 11. Knob, adjustment.........cccovvveeenneee 31187
3. Flange, threaded outlet... 12. Screw, 5/16-NC x 3/4” socket head .. ..22767 <5
— Qutlet pipe, 1-1/4" NPT MOV Pro ...31606 14. Nipple,1-1/2" x 2" heavy wall ........ccocoovvvviiiirnnne 01840 <.5
— Qutlet pipe, 1-1/2" NPT, MQV Pro... ....31605
(1) —
)
12) 8)—, LN
( | { @ ‘. 4
. ) (")
) > ;
(13) J
."‘;j.: (10)
N Q) |V
o) O (M
@y §o) o
- . }_/‘ \ . l;-l,u,{,'/i
— (9) L . "a_‘i,
|
¢ = -"_;;
. v\\ “ m —.
— I
(1)—/ N
4 (5) l.-’
3 _ N~
B S o) 7

4 | Section7 | ©2025 Clemco Industries Corp.

(4)



